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Attempt any five questions.
Al questions carry equal marks.
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1. Lxplain mcome method of measuring national
inceme. What 15 the prablent of double counting ?
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2. Discuss consumption and saving tunctions. Show
the relationship between them. [ consumption
function is given by ("¢ 100 + (16 Y. what would
be the equation tor savines {unctien ? 12,3
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Given,
Consumption {C)} =100 + 0.8 Y,

Government Expenditure (G) = Rs. 1,000 crs.
Investment (1) = Rs. 500 ¢rs.

Taxes (T) = Rs. 40 crs.

Exports (X) = Rs. 20 crs.

Imports (M) =10+ 0.1 Y,

{where, Y is the disposable income)
Find,

{a) Equilibrium level of income

{b) Equilibrium level of consumption
{(c) Equilibrium level of savings

(d) Disposable income (Y ;)

(e) Net exports 15
TEHE

37U (C) = 100+08Y,

TEN A (G) = 1000 BT

(D = 500 IS 3.

F(T) = 40FT .

frae (X) = 20 HITT.

A (M) = 10+0.1Y,
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What do you understand by ‘Money’ ? Discuss

the reasons for holding money. 15
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Liscuss  the IS-LM  equilibrium. How  will
cqaitibrium  income  change in case of an
exnansionay fiscal policy ? 5. 10
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What do vou understand by balance of payments ?
ts 11 possible for current account to show deficit

while capital account is in surplus ? Explain, 7% + 7;
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Compare  the impact  of contractionary and
eXpansionary aggrepate demand shocks on real
gross domestic produet and price level. in the
short run. Is
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Write short notes on any tweo :
(a)  Quantity Theory of Money (QTM)
(b}  Credit creation using ratios approach

(¢) Investment multiplier 15
femdt &t W Hhae froutt forfg 7

(F) a1 %1 uiveroy tyogig
() TR 30T % 3T ER7 WRg-fe
(T} RIS T

4 1,000



